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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iir)
(iv)

(v)
(vi)

This question paper contains 12 questions. All questions are compulsory.
This question paper is divided into three Sections — A, B and C.

Section A — Questions no. 1 to 3 are very short answer type questions, carrying
2 marks each.

Section B — Questions no. 4 to 11 are short answer type questions, carrying
3 marks each.

Section C - Question no. 12 is case based question, carrying 5 marks.

Use of log tables and calculators is not allowed.

SECTION A

In a plot of A, against the square root of concentration (Cl/ 2) for strong
and weak electrolyte, the value of limiting molar conductivity of a weak
electrolyte cannot be obtained graphically. Suggest a way to obtain this
value. Also state the related law, if any. 2

Write reasons for the following statements : 2x1=2

(1) Benzoic acid does not undergo Friedel-Crafts reaction.

(i1)  Oxidation of aldehydes is easier than that of ketones.

Give reasons for the following statements : (Any two) 2x1=2

) Benzaldehyde is less reactive than propanal in nucleophilic
addition reactions.

(ii)  Carboxylic acids do not give reactions of carbonyl group.
(iii)  4-nitrobenzoic acid is a stronger acid than benzoic acid.

SECTION B

(a) (1) Silver atom has completely filled d-orbitals in its ground
state, it is still considered to be a transition element. Justify
the statement.

©
(ii)) Why are EM values of Mn and Zn more negative than

2+/M
expected ?

(iii) Why do transition metals form alloys ? 3x1=3
OR

3 R PT.O.
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(@) = fer mu faa & snamr W f=fafaa gei o 3@ G . 3x1=3
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3d #oft % fopm T 1 oM TS =[daH Bt § 2
fodar iR qdta AfRT < argett i e Tedt g’ =& gl
g7
GehHYT T sl HUH Tt 3= T BT & 2
foreea & faures fagia & SMuR W d4 &1 Sogei=e faam|
%ﬁgﬁ, Ife A, <P Kl
Fi-gnael T % WY [Ni(CN) > gfegrahis R S
TSI % FY [NiCl,)%" Sgrhia & | U
FHH o 7T shrer T | [RATT] AT : Ni = 28]
frafefaa gpa & faerm o Sanfea oot Y o faflew : 3x1=3

[PtCly(NHz),ICly

rerEn

THA [FeFg|3~ 1 had TahUl Jrachid ST THEherd hifag |
(Fe 1 9T 3T = 26)
fqu v w%a 1 IUPAC AW faifiau :

[Co(NH3)5ClICly
[CoFg]3— 1 g B G%d [Colen)s]3* 3Tfeh Tt 1 8 2 3x1=3
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(b)

(b)

Answer the following questions on the basis of the figure given

below :
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3Ix1=3

) Which element in 3d series has lowest enthalpy of
atomisation ?
(i1)) Why do metals of the second and third series have greater
enthalpies of atomisation ?
(iii) Why are enthalpies of atomisation of transition metals quite

high ?

(1) Write the electronic configuration of d4 on the basis of
crystal ﬁeld splitting theory, if A, < P.

(i1) [Nl(CN)4] r Wlth square-planar structure is diamagnetic

and

Give reason to support the statement.
[Atomic number : Ni = 28]

(i1i))  Write the number of ions produced in the solution from the

following complex : 3x1=3
[PtCly(NH3g)4ICl,
OR
1) Calculate the spin only magnetic moment of the complex

[FeFgl3~. (Atomic number of Fe = 26)
(i1)  Write the IUPAC name of the given complex :

(iii) Why is the complex [Co(en)3]3+

[Co(NH3)5Cl1]Cly

5 EISE
[=IE:
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6. (%) fTafafga sifufsnst o gag afiemr fafeu . 3x1=3
() U, VHied FANIEE % WY ST hT B |
(i) & A9 T UFelH, ST ST o a1 A fsham a2 |
(i) UFef, Feitwd st wHifas deRmm gEgedEs & Ay
firfspan ot B |
Jrera

@) () Ffafea sEfew wfeE w1 IUPAC ™ fafew :
(CH3CH,),NCH,4
(i) TrafaRea & foo oo fafea .

(I AT AfTHTES FIeror
(II) U SHMHERES frefiemton 1+2=3

7. (%) fmfafea % foe s fafec . 3x1=3
(1)  TIAUEHH I H fooid @ St Yol st 3 |
(i) WARR® o giaedm AfulhameTl § WA W o- 3R
p-Fdes g1 7 foheg Ufaefla & mggieRr @ m-Aggfaeia
TExaqUl AT St 8 |

(iii)  UHH rfesrht < wifd sJegr %[ 2 |

BC]
(@) <m f=faRaa afeada o i 3x1=3
(i)  TESres 8 Ufefia

(i)  TIAMES ¥ BT
(iii) TSI | TAHH
8. TH ARk ‘A’ (C,H,0) ATFEIHd &R ‘B’ (C,H,0,) T B | ‘A’ AEEIEH
TR grT diel 3a&T T & 991 HCN & Afshan otes i ‘C7 s9TaT 2 |
‘C TA-3TTHEd okt 2-BESIFIIIATEh 37 a1 & | Ak ‘A’ ‘B’ 3R ‘C”
Yga hifve | gerg Affshansti & aftetor fafgu | 3
9. () T=fafga § 9 s 3 TH @ i 2
Tid+ Crd+, V3
(XHTY] ShETeh : Ti =22, Cr =24, V=23)
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6. (a
(b)
7. (a)
(b)

Write equations involved in the following reactions : 3x1=3

) Ethanamine reacts with acetyl chloride.

(i1)  Aniline reacts with bromine water at room temperature.

(i1i) Aniline reacts with chloroform and ethanolic potassium
hydroxide.

OR
(1) Write the IUPAC name for the following organic compound :
(CH3CH9)9NCH3

(i1)  Write the equations for the following :
(D Gabriel phthalimide synthesis

(II) Hoffmann bromamide degradation 1+2=3

Write reasons for the following : 3x1=3

) Ethylamine is soluble in water whereas aniline is insoluble.

(i1))  Amino group is o- and p-directing in aromatic electrophilic
substitution reactions, but aniline on nitration gives a
substantial amount of m-nitroaniline.

(iii) Amines behave as nucleophiles.

OR

How will you carry out the following conversions : 3x1=3

(1) Nitrobenzene to Aniline
(11) Ethanamide to Methanamine
(ii1) Ethanenitrile to Ethanamine

8. A compound ‘A’ (CoH4O) on oxidation gives ‘B’ (CoH4O9). ‘A’ undergoes
Iodoform reaction to give yellow precipitate and reacts with HCN to form
the compound ‘C’. ‘C’ on hydrolysis gives 2-hydroxypropanoic acid.
Identify the compounds ‘A’, ‘B’ and ‘C’. Write down equations for the
reactions involved.

9. (1)

Which ion amongst the following is colourless and why ?
Tid+ Crd+, V3
(Atomic number of Ti = 22, Cr =24, V =23)

7 g P.T.O.
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(i)  3aEehTul % Ul Fe2+ s g1 § Mn2+ wgd 3fersh Ufaell i & 2

(i) TREl o1g 1 IHAW ATl TTTAT Ik haw ATFUEE YAl
TISNIES | WSRId 2l 3 ? 39 HoH I gfe HIT |

10. 298 K W f=fafgd g« & fau 3= gl fafigu it fa.ar. sa@ (emf)

gfiteferd <hIfT

Zn | Zn2+* (0-:001 M) || H* (0-01 M) | Hs (g) (1 bar) | Pt (s)

f?J[WﬁT%: EC)

e)
E
HY/H

llog 10 = 1]

Zn2+/Zn

=—076V

=000V

11. feu u o = e i iR f=fafed geai & 3ot dfse .

Logp ——

() 3 WAl & AT & sieh sl HeRo ®9 4 fAflgu |

(i) 3Torg <l BT FT 8 2

(iii) TET 1 @S FT efug =T 8 2

8 ESE
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(i) Whyis MnZ2+ much more resistant than Fe?* towards oxidation ?

(iii) Highest oxidation state of a metal is shown in its oxide or fluoride
only. Justify the statement. 3x1=3

10. Write the Nernst equation and calculate the emf of the following cell at
298 K : 3
Zn | Zn2* (0-001 M) || H* (0-:01 M) | Hy, (g) (1 bar) | Pt (s)
. ©
Given: E =—076V
Zn2*/7n
E@

=000V
H*/H,,

[log 10 = 1]

11. Observe the given figure and answer the following questions : 3x1=3

Log

Logp ——

1) Write the expression for adsorption of gases on solids in the form of

an equation.
(ii))  What is the slope of the graph ?

(iii) What does the intercept of the line represent ?

9 my P.T.O.
O}5a
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Qs

= fou T e wi dfer it ffaRad get & 3w i 1+1+1+2=5

foreft TEmafes stfufshan & fou an fem, srfifsean amm =1 srfiysprent <ht @
YT T qF  HATd hdl g | Th A AYGHAT aA + bB —> C
e gEehl SATuTsha HEIATY | i Hedad =0T 81 §, 319q I8 Th Wi
arffsean B, o fam fean Strar R r = k[AI¥[B)Y <& [A] 3% [B], A 3 B <t
Tigarall =l 7 Ui oftet ¥ FEfua sd 8 | =mdmeh x 3 y Ioieh SAfufshan &
feru aftafda g & 5= s gro faffa fomn sar 8 1 k& AW 39 widefaa
% Ty giEfda B0 & S rfufsean o i yfad et & 99 M, g, e
&%, AT | §9 TRl 1 Sg AT 1 Fo1 wife & T4 H JET ST 7 |
S ThITE T ATUTSHAT T o7 TR T&aT § TR 7 SAMERIEhI <l Higal T e
T TOd gidT 8 | Yo ehife bl rfufshan haet Wb AR ot Figar w el
HIAT B | Tk TsRAT Tgefta ife i el STt @ 99 38eh! Hol HITC ol &l | Th
TR Ifc g4 Afafshan i wife fMuifid = oft, @ 79 ave S et ot
YRRk A1 % U TH= ¥ k g L Tohd 7 |
) FrefaRen o s areft sififea 6 g Fife aieiaa Hif -
aT = k[A]V/2 [B]3/2
(ii) Tk & 97 W AT T 1 WS BT 8 ?
(iii)  SAfvfshan 9 @ = AR g 2
(iv) (%) U YoM hife s Afufskan w1 50% F 8 ¥ 77-78 fime @
8 | 39 AR % 30% QU B H W dTel 9HI I iehed
T | (log 10 = 1, log 7 = 0-8450)

Frorat
(@) Uk Jom wife i fifspam o1 o feoie 1 x 1073 ufe devs 2 |

30 Affspan # SAfireries 1 AN 5¢ & =t 3 g B4 | fohat
gug M 2 (log 3 = 0-4771, log 5 = 0-6990)

[=1E5:
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SECTION C

Read the passage given below and answer the questions that

follow : 1+1+1+2=5

The rate law for a chemical reaction relates the reaction rate with the
concentrations or partial pressures of the reactants. For a general
reaction aA + bB — C with no intermediate steps in its reaction
mechanism, meaning that it is an elementary reaction, the rate law is
given by r = k[A]¥[B]Y, where [A] and [B] express the concentrations of A
and B in moles per litre. Exponents x and y vary for each reaction and
are determined experimentally. The value of k varies with conditions
that affect reaction rate, such as temperature, pressure, surface area, etc.
The sum of these exponents is known as overall reaction order. A zero
order reaction has a constant rate that is independent of the
concentration of the reactants. A first order reaction depends on the
concentration of only one reactant. A reaction is said to be second order
when the overall order is two. Once we have determined the order of the
reaction, we can go back and plug in one set of our initial values and
solve for k.

1) Calculate the overall order of a reaction which has the following
rate expression :

Rate = k[A]1/2 [B]3/2
(i1)  What is the effect of temperature on rate of reaction ?
(iii) What is meant by rate of a reaction ?

(iv) (a) A first order reaction takes 77-78 minutes for 50%
completion. Calculate the time required for 30% completion
of this reaction. (log 10 = 1, log 7 = 0-8450)

OR
(b) A first order reaction has a rate constant 1 x 103 per sec.

How long will 5 g of this reactant take to reduce to 3 g ?
(log 3 =0-4771; log 5 = 0-6990)

[=1E:
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